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Mann-Whitney  test

(p = 0.697)

(p = 0.274, 0.698, 0.239 )

( mean = 6.07 =262, mean =
mean =525 =32llmean =487 =309
(mean =427 =221,

)
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Kruskal Wallis test

(p = 0.959)

(p = 0817, 0.514, 0.691 )
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Kruskal Wallis test
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(p =0.020)
(mean =6.77, SD = 3.56)
(mean =556, =3.59)
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Kruskal Wallis test

(p = 0.445)

(p =0.069, 0.173, 0.952 )
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Kmskal Wallis test
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Kruskal Wallis test
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Kruskal Wallis test
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Kruskal Wallis test
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Kruskal Wallis test

411

4.82
4.46

6.60
4.65
6.15
5.80

4.93
4.25
459
4.95

2.44
3.24
2.29

3.10
2.09
3.50
241

3.15
3.09
3.07
2.13

< 2,500
(=29
Mean

3.84
5.18
451

6.19
4.48
6.70
5.79

5.24
5.00
5.12
5.14

2.25
3.12
2.58

2.83
2.80
397
2.73

3.68
2.80
2.87
2.35

2,501 - 5,000
(=104
Mean

409
4.66
437

6.96
5.55
6.90
6.47

5.16
5.26
5.21
5.35

2.40

3.40
245

319
2.32
3.39
243

3.62
321
3.04
2.15

5,001 - 7,500
(=93
Vean

3.65
3.85
3.75

112
5.06
6.42
6.20

6.04
559
5.81
5.2

2.05
321
2.10

3.06
2.46
3.89
2.81

3.67
3.05
3.01
2.20

7501 - 10,000
(=44
Vean

3.55
4.55
4.05

5.68
4.86
6.36
5.63

515
4.09

4.62
4.7

2.03
2.66
1.69

3.42
242
3.94
2.82

3.90

3.20
3.25
2.06

>10,000

(=67)

Mean

3.15
381
3.48

5.92
5.69
6.38
6.00

5.67
4.68
5.17
4.88

2.02
3.09
1.99

3.62
2.28
3.60
2.64

414
3.34
347
2.18

Chi-
Square

5.360
DATT
6.717

8.289
1.690
0.744
33719

2.208
5.558
2.802
3.640

P.
value

0.252
0.242
0.152

0.082
0.104
0.946
0.496

0.698
0.235
0.592
0.457



37
test
(p <0.001)
<0.001,0.005 )

(p = 0.269)
6-10
1
(mean =476, =3.13)

13

(mean = 5.85,

63

Kruskal Wallis

(b =<0.001,

= 3.33)



" 13

3
Kruskal Wallis test
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Mann-Whitney
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